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ŸÊ◊Ê¢∑§ Roll No.

No. of Questions — 24  SS—14–1—Geog. I
No. of Printed Pages — 7

©UìÊ ◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2010

SENIOR SECONDARY EXAMINATION, 2010

flÒ∑§ÁÀ¬∑§ flª¸  I-∑§‹Ê  ( OPTIONAL GROUP I — HUMANITIES )

÷ÍªÊ‹ ó ¬˝Õ◊ ¬òÊ
( GEOGRAPHY — First Paper )

‚◊ÿ — 3 
1
4  ÉÊá≈U

¬ÍáÊÊZ∑§ — 40

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –
Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª˝¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚ „UÙŸ ¬⁄U
Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ –
If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.

3. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U – ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 22 ∞fl¢ 23 ◊¥ •Ê¢ÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
All the questions are compulsory. There is internal choice in Question

Nos. 22 and 23.

4. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ –
Write the answer to each question in the given answer-book only.

5. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ flÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ ‚ÃÃ˜
Á‹π¥ –
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.
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6. ¬˝‡Ÿ ‚¢ÅÿÊ 2 ‚ 5 Ã∑§ •ÁÃ ‹ÉÊÍûÊ⁄UÊà◊∑§ ¬˝‡Ÿ „Ò¥U Á¡Ÿ∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª 20 ‡ÊéŒÊ¥ ◊¥,
¬˝‡Ÿ ‚¢ÅÿÊ 6 ‚ 13 Ã∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª 30 ‡ÊéŒÊ¥ ◊¥, ¬˝‡Ÿ ‚¢ÅÿÊ 14 ‚ 21 Ã∑§ ¬˝àÿ∑§
©UûÊ⁄U ‹ª÷ª 50 ‡ÊéŒÊ¥ ◊¥ ÃÕÊ ¬˝‡Ÿ ‚¢ÅÿÊ 22 ‚ 24 Ã∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª 3 ¬ÎDÔUÙ¥ ◊¥
ŒËÁ¡∞–
Question Nos. 2 to 5 are very short answer type to be answered in
20 words each, Question Nos. 6 to 13 in 30 words each, Question
Nos. 14 to 21 in 50 words each and Question Nos. 22 to 24  in
3 pages each.

7. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U Áfl∑§À¬
( •, ’, ‚ ∞fl¢ Œ ) „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê
’ŸÊ∑§⁄U Á‹π¥ —
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
four alternatives A, B, C and D . Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

¬˝‡Ÿ ∑˝§◊Ê¢∑§

Question No.

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U

Correct letter of

the Answer

1.       (i)

1.       (ii)

1.       (iii)

1.       (iv)

1. (i) ÷Ê⁄UÃ ∑§ ’SÃ⁄U ¬˝Œ‡Ê ∑§ ¬„UÊ«∏UË …UÊ‹Ê¥ ¬⁄U ∑§Ë ¡ÊŸ flÊ‹Ë SÕÊŸÊãÃÁ⁄UÃ ∑Î§Á· ∑§„U‹ÊÃË „ÒU

(•) ÁŒå¬Ê (’) ¬á«UÊ

(‚) øŸÊ (Œ) ‹Ò«UÊ¢ª –

The shifting cultivation practised in hilly slopes of Bastar region

of India is known as

(A) Dippa (B) Penda

(C) Chena (D) Ladang.  12 
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(ii) fl„U ‡ÊÊπÊ ¡Ê ◊ÊŸfl ÷ÍªÊ‹ ‚ ‚ê’ÁãœÃ „ÒU, „ÒU

(•) ‚¢‚ÊœŸ ÷ÍªÊ‹ (’) ¡Òfl ÷ÍªÊ‹

(‚) ÁøÁ∑§à‚Ê ÷ÍªÊ‹ (Œ) ÷Í-•Ê∑Î§ÁÃ ÁflôÊÊŸ –

The branch related to human Geography is

(A) Resource geography (B) Bio-geography

(C) Medical geography (D) Geomorphology.  12 

(iii) ÷Ê⁄UÃ ∑§Ê ¬˝ÊªÒÁÃ„UÊÁ‚∑§ Ÿª⁄U „ÒU U

(•) •ÿÊäÿÊ (’) ¡‹¢œ⁄U

(‚) ◊ŒÈ⁄UÊß¸ (Œ) ÁøûÊÊÒ«∏Uª…∏U –

Prehistoric town of India is

(A) Ayodhya (B) Jalandhar

(C) Madurai (D) Chittorgarh.  12 

(iv) Ÿª⁄U, ¡Ê ÷Ê⁄UÃ ∑§Ë ‚ÍÃË flSòÊ ©UlÊªÊ¥ ∑§Ë ⁄UÊ¡œÊŸË ∑§ ŸÊ◊ ‚ ¡ÊŸÊ ¡ÊÃÊ „ÒU, „ÒU

(•) ◊Èê’ß¸ (’) ÁŒÀ‹Ë

(‚) ∑§Ê‹∑§ÊÃÊ (Œ) øÛÊß¸ –

The city known as the capital of Cotton Textile industries of

India, is

(A) Mumbai (B) Delhi

(C) Kolkata (D) Chennai.  12 

2. Áfl‡fl ∑§Ë ∑È§‹ ¡Ÿ‚¢ÅÿÊ ∑§Ê Á∑§ÃŸÊ ¬˝ÁÃ‡ÊÃ ©UûÊ⁄UË ªÊ‹Êh¸ ◊¥ ÁŸflÊ‚ ∑§⁄UÃÊ „ÒU ?

What is the percentage of the total population of the world living in the

northern hemisphere ?  12  
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3. Áfl∑§Ê‚‡ÊË‹ Œ‡ÊÊ¥ ◊¥ ÷ÍÃ‹ ¬Á⁄Ufl„UŸ ◊Êª¸ ÁŸ◊Ê¸áÊ „UÃÈ ´§áÊ ©U¬‹éœ ∑§⁄UÊŸ flÊ‹ Á∑§‚Ë ∞∑§
•ãÃ⁄U⁄UÊc≈˛UËÿ ‚¢ª∆UŸ ∑§Ê ŸÊ◊ ’ÃÊß∞ –

Name any one international organization which provides loan for

constructing surface transport routes in developing countries. 1
2  

4. ∞Á‡ÊÿÊ ◊¥ ¡Ÿ‚¢ÅÿÊ ∑§Ë ÃËfl˝ flÎÁh ∑§ Á‹∞ ©UûÊ⁄UŒÊÿË ∑§Êß¸ ŒÊ ∑§Ê⁄U∑§ Á‹Áπ∞ –

Write any two factors responsible for the rapid growth of population in

Asia. 1
4  + 14  = 12  

5. ¬ŸÊ◊Ê Ÿ„U⁄U Áfl‡fl ∑§ Á∑§Ÿ ŒÊ ◊„UÊ‚Êª⁄UÊ¥ ∑§Ê ¡Ê«∏UÃË „ÒU ?

Which two oceans of the world are connected by the Panama Canal ?
1
4  + 14  = 12  

6. ∑È§≈UË⁄U ©UlÊªÊ¥ ∑§ ∑§Êß¸ øÊ⁄U ©UŒÊ„U⁄UáÊ ŒËÁ¡∞ –
Give any four examples of Cottage industries. 4 × 14  = 1

7. ◊ÊŸfl Áfl∑§Ê‚ ‚Íø∑§Ê¢∑§ ∑§Ë ªáÊŸÊ ∑§ Á‹∞ •ÊÿÊ◊ ‚¢∑§Ã∑§ ∑§Ê ‚ÍòÊ Á‹Áπ∞ –

Write the formula of dimension index to calculate Human Development

Index. 1

8. œÊÁàfl∑§ ÃÕÊ •œÊÁàfl∑§ πÁŸ¡Ê¥ ◊¥ •ãÃ⁄U ’ÃÊß∞ – ¬˝àÿ∑§ ∑§Ê ∞∑§ ©UŒÊ„U⁄UáÊ ŒËÁ¡∞ –

Distinguish between metallic and non-metallic minerals. Give one

example of each. 1
2  + 14  + 14  = 1

9. ŒÁˇÊáÊË ∞Á‡ÊÿÊß¸ ¬˝ÊŒÁ‡Ê∑§ ‚„UÿÊª ‚¢ÉÊ ∑§ Á∑§ã„UË¥ øÊ⁄U ‚ŒSÿ Œ‡ÊÊ¥ ∑§ ŸÊ◊ Á‹Áπ∞ –

Write the names of any four member countries of the South Asiatic

Association of Regional Co-operation. 4 × 14  = 1

10. ““√ÿÊ¬Ê⁄U ∑§Ë ∑È§¿U ◊Í‹÷ÍÃ ‡ÊÃÊZ ∑§Ë ¬ÍÁÃ¸ „UÊŸ ¬⁄U „UË √ÿÊ¬Ê⁄U ‚¢÷fl „ÒU –”” √ÿÊ¬Ê⁄U ∑§Ë Á∑§ã„UË¥ ŒÊ
‡ÊÃÊZ ∑§Ê ©UÀ‹π ∑§ËÁ¡∞ –

“Trading is possible only on fulfilment of some basic conditions of
trade.” Mention any two conditions of trade. 1

2  + 12  = 1
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11. ‚Êª⁄UÊ¥ ◊¥ Ã‹ ¬Á⁄Ufl„UŸ „UÃÈ Á’¿UÊß¸ ¡ÊŸ flÊ‹Ë ¬Êß¬ ‹ÊßŸÊ¥ ∑§Ê ˇÊ⁄UáÊ ‚ ’øÊŸ ∑§ Á‹∞ ÄÿÊ
©U¬Êÿ Á∑§ÿÊ ¡ÊÃÊ „ÒU ? ( ∑§Êß¸ ∞∑§ )

What measures are taken up for preventing the pipelines laid inside

oceans for oil transportation from getting being eroded ? ( any one )

1

12. √ÿÊ¬ÊÁ⁄U∑§ ’ÊªÊŸË ∑Î§Á· ◊¥ ©UªÊÿË ¡ÊŸ flÊ‹Ë Á∑§ã„UË¥ øÊ⁄U »§‚‹Ê¥ ∑§ ŸÊ◊ Á‹Áπ∞ –

Name any four crops grown in commercial plantation tillage.

4 × 14  = 1

13. ‚¢øÊ⁄U ∑§Ë »Ò§Ä‚ ‚flÊ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞ –

Explain the Fax service of communication. 1

14. ª˝Ê◊ËáÊ •ÁœflÊ‚Ê¥ ∑§ Áfl∑§Ê‚ ◊¥ ’Êœ∑§ Á∑§ã„UË¥ ŒÊ ‚◊SÿÊ•Ê¥ ∑§Ê ‚◊¤ÊÊß∞ –

Explain any two problems hampering the development of rural

settlements. 1 + 1 = 2

15. ‹ãŒŸ ∑§ •ÊÒlÊÁª∑§ Áfl∑§Ê‚ •ÊÒ⁄U ÁflSÃÊ⁄U ∑§ Á‹∞ ©UûÊ⁄UŒÊÿË ∑§Êß¸ øÊ⁄U ◊ÈÅÿ ∑§Ê⁄U∑§ ’ÃÊß∞ –

Write any four main factors responsible for the industrial development

and expansion of London. 4 × 12  = 2

16. Sfl¡ Ÿ„U⁄U ∑§Ê ŸÊ◊Ê¢Á∑§Ã ⁄UπÊÁøòÊ ’ŸÊß∞ –

Draw a labelled sketch of the Suez Canal. 2

17. •ÊS≈˛UÁ‹ÿÊ ◊„UÊmË¬ ∑§Ê ⁄UπÊ ◊ÊŸÁøòÊ ’ŸÊ∑§⁄U ÁflÁŸ◊Ê¸áÊ ©UlÊªÊ¥ ∑§ ŒÊ ˇÊòÊ Œ‡ÊÊ¸ß∞ –

Draw a sketch map of Australia and show two areas of manufacturing

industries. 1 + 12  + 12  = 2
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18. „¢UÁ≈¢Uª≈UŸ Ÿ ◊ÊŸfl ÷ÍªÊ‹ ∑§ Áfl·ÿ ˇÊòÊ ◊¥ ◊ÊŸflËÿ ¬˝ÁÃÁ∑˝§ÿÊ•Ê¥ ∑§ •ãÃª¸Ã Á∑§Ÿ ◊ÊŸflËÿ

•Êfl‡ÿ∑§ÃÊ•Ê¥ ÃÕÊ ‚flÊ•Ê¥ ∑§Ê ‚Áê◊Á‹Ã Á∑§ÿÊ „ÒU ? ( ∑§Êß¸ •Ê∆U )

Which human needs and services have been included in the scope of

human geography by Huntington under human responses ?

( any eight ) 8 × 14   = 2

19. ’È‡Ê◊Ÿ ∞fl◊˜ ∞ÁS∑§◊Ê ∑§Ë •Êπ≈U ÁflÁœÿÊ¥ ∑§Ë ÃÈ‹ŸÊ ∑§ËÁ¡∞ –

Compare the hunting methods of Bushman and Eskimo. 1 + 1 = 2

20. ÿÁŒ Á∑§‚Ë Œ‡Ê ∑§Ë ∑È§‹ ¡Ÿ‚¢ÅÿÊ ∑§Ê 60% ‚ •Áœ∑§ flÎh •ÊÿÈ flª¸ ∑§Ê „UÊ, ÃÊ ©U‚ Œ‡Ê ∑§

•ÊÁÕ¸∑§ Áfl∑§Ê‚ ¬⁄U ß‚∑§Ê ÄÿÊ ¬˝÷Êfl ¬«∏UªÊ ? ( ∑§Êß¸ ŒÊ )

If more than 60 per cent of the total population of a country belongs

to the old age group, what will be its impact on economic development

of that country ? ( any two ) 1 + 1 = 2

21. ““Áfl‡fl ∑§Ë ¡‹Ê…∏U ŸŒË ÉÊÊÁ≈UÿÊ¥ ◊¥ ‚ÉÊŸ ¡Ÿ‚¢ÅÿÊ ¬Êß¸ ¡ÊÃË „ÒU –”” ∑§ÕŸ ∑§Ë √ÿÊÅÿÊ ∞∑§
©UŒÊ„U⁄UáÊ ‚Á„UÃ ∑§ËÁ¡∞ –

“Dense population is found in alluvial river valleys of the world.”
Explain the statement giving an example. 1 

1
2  + 1

2  = 2

22. ∞Á‡ÊÿÊ ∞fl◊˜ ÿÍ⁄UÊ¬ ∑§ ◊ÊŸfl ‚◊Í„UÊ¥ ∑§Ë Á∑§ã„UË¥ •Ê∆U Áfl‡Ê·ÃÊ•Ê¥ ∑§Ê ÃÈ‹ŸÊà◊∑§ Áflfl⁄UáÊ ¬˝SÃÈÃ
∑§ËÁ¡∞ –

•ÕflÊ
¡Ÿ‚¢ÅÿÊ ‚ê’ãœË ‚◊SÿÊ•Ê¥ ∑§ ‚◊ÊœÊŸ „UÃÈ ∑§Êß¸ •Ê∆U ‚È¤ÊÊfl ŒËÁ¡∞ –

Give a comparative account of any eight characteristics of Asian and
European human agglomerations. 8 × 12  = 4

OR

Give any eight suggestions to solve population problems. 8 × 12  = 4
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23. ’¢Œ⁄UªÊ„UÊ¥ ∑§Ê fláÊ¸Ÿ ÁŸêŸÊ¢Á∑§Ã ‡ÊË·¸∑§Ê¥ ∑§ •ãÃª¸Ã ∑§ËÁ¡∞ —

(i) √ÿÊ¬Ê⁄U ◊¥ ◊„Uàfl

(ii) Áfl∑§Ê‚ ∑§ ÁŸœÊ¸⁄U∑§ ∑§Ê⁄U∑§ –

•ÕflÊ

Áfl‡fl ◊¥ •ÊãÃÁ⁄U∑§ ¡‹ ¬Á⁄Ufl„UŸ ∑§Ê fláÊ¸Ÿ ÁŸêŸÊ¢Á∑§Ã ‡ÊË·¸∑§Ê¥ ∑§ •ãÃª¸Ã ∑§ËÁ¡∞ —

(i) Áfl‡Ê·ÃÊ∞°

(ii) ©U¬ÿÊÁªÃÊ ∑§Ê ¬˝÷ÊÁflÃ ∑§⁄UŸ flÊ‹ ∑§Ê⁄U∑§ –

Describe seaports under the following heads : 1 + 3 = 4

(i) Importance in trade

(ii) Determining factors for development.

OR

Describe inland waterways in the world under the following heads :

1 + 3 = 4

(i) Characteristics

(ii) Factors affecting the utility.

24. Áfl‡fl ◊¥ ÁflÁŸ◊Ê¸áÊ ©UlÊªÊ¥ ∑§Ë •flÁSÕÁÃ ∞fl◊˜ Áfl∑§Ê‚ ∑§Ê ¬˝÷ÊÁflÃ ∑§⁄UŸ flÊ‹ ÷ÊÒªÊÁ‹∑§

∑§Ê⁄U∑§Ê¥ ∑§Ê flÎ„UŒ Áflfl⁄UáÊ ŒËÁ¡∞ –

Give a detailed account of geographical factors affecting the

localisation and development of manufacturing industries in the

world.  4

                        


